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Q.1:.

Which of the following diseases is shown in the picture below? FoLial 8y guall Anuagh 400N alY) (e gl

Learning Outcomes Covered
BIO.3.1.01.087

(]

o BIO.3.1.01.089

o BI0.3.4.01.033

o Bl0.3.4.01.042
1. Rheumatoid arthritis e ole g Jualiall gl
o Tetanus 58N
3 Sickle-cell disease Alaid) LA (= e
4 Allergy ERNIEN

Mark(s): 5/5

Q.2:.

Learning Outcomes Covered

BIO.3.1.01.087
BI0O.3.1.01.088
BIO.3.1.01.089
BI0.3.1.02.027
BIO.3.1.02.028
BI10.3.1.02.029
BIO.3.4.01.033
BI10.3.4.01.042

Which of the following best describes Corona disease? ‘ $lg 68 Lo han L lea c_si “

O O 0O O O O O O



Endemic disease

1.
Epidemic disease
2.
3 Pandemic disease
4 It is transmitted by arthropods

Mark(s): 5/5

Q.3:.

Ohgiae aye

L3 Uae

yitie Ay ae

Sllinsall gy e Jai

In the figure below, the population density of the cattle egrets is
greater near the Cape buffalo. What type of dispersion you

would expect these birds to have?

Gl s sl il B (6T ol S 8
Gy o aBT (1) LAY £l La L ugalal) (e
¢ ekl oda o

Learning Outcomes Covered

BIO.3.1.01.087
BI0.3.1.01.089
BIO.3.1.02.027
BI10.3.1.02.028
BI0O.3.1.02.029
B10.3.4.01.033
BIO.3.4.01.042

Uniform

O O O 0O O O O

5 Clumped
Random

Straight-line

Ll
o el



Mark(s): 5/5

Q4:.

How can environmental factors such as light intensity and
carbon dioxide levels affect rates of photosynthesis?

Sl gioa g £ guall S Jia i) Jal gad) (and (S s
Spall sl ules Ao pu A N (g S Ssi G

Learning Outcomes Covered
o BIO.3.1.02.030

Increased light and CO?2 increase photosynthesis rates

1.

) Increased light and CO2 decrease photosynthesis rates

3 Only increased light leads to increase photosynthesis rates
4 Only increased CO2 leads to increase photosynthesis rates

Mark(s): 5/5

Q.5:.

gra}.ai\ L) Ggan Y daa (add é\ CO2 3 9_9,\'4.“ 33l ) L_ﬁgJ}S

Sl gl & gan Y aaa pd ;M) Jaid CO, 330 ) g2

Which of the following is not a component of the lymphatic system? fhalll Jlgall cligSa cha (el A gsa g

Learning Outcomes Covered

o BIO.3.1.01.089
The heart

o The spleen

The tonsils

4 The thymus gland

Mark(s): 5/5

Q.6:.

Jalall
sl

4 yie 3l szl

‘Which of the following is a unique characteristic of specific
immunity?

¢ Laadiall detial) et A cilacd) cpa g

Learning Outcomes Covered



o BIO.3.1.01.088

1 Phagocytosis is the mechanism of defense gUAl Al & daaldl
5 Complement proteins are taking part in the process Alanll o3n B ol L5 ALl i ol

Interferon protein takes part in the process alaall 528 8 (g 8 YN (5 9 5 A L
4 Produce memory B and T cells T,B 38 LA i

Mark(s): 5/5

Q.7:.

Which molecule is produced in the final step of the Calvin cycle? RIS Aala cya B AN 5 ghadll o il M £ g Al La

Learning Outcomes Covered
o BIO.3.1.02.027

Acetyl COA

Carbon dioxide (CO2)
Ribulose 1, 5-bisphosphate (RuBP)
4 Glyceraldehyde 3 phosphate (G3P)

Mark(s): 5/5

Q.8:.



This graph shows the percent increase in the
Global human population using data from the late 1940s
through 2016. What is the percentage of the expected

increase until 20507?

AL allal) B GIS) sae Sbaj) ) )l 138 g
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il
Learning Outcomes Covered
o Bl0.3.4.01.033
BI0.3.4.01.042
L.
2.
3.
4.

Mark(s): 5/5

Q.9:.




In the figure below, complement proteins can form a slial) A L Alagal) culisig pl) (any Gaand coliaf i) o

pore in the plasma membrane of the invading cell. Z.Uld\ LMU.AJM\
Which letter of the following indicates fluid rushing into SAUAN Jaka ) Jilad) 335 ) jada iy b laa ‘53
the cell?

(D)

Learning Outcomes Covered

BIO.3.1.01.087
BIO.3.1.01.088
BIO.3.1.01.089
BI0.3.1.02.027
BIO.3.1.02.028
BIO.3.1.02.029
B10.3.4.01.033
BIO.3.4.01.042

O O 0O 0O 0O O O O

(A)

) (B)
) (©)
(D)

Mark(s): 5/5

Q.10:.



The graph below represents the process of alcohol fermentation,

which of the following refers to the letter (A) in the illustration

below? Alcohol Fermentation
Glucose
2 Ethanol
2 ADP,
NAD’
whid s
1 ATP
2 Acelaldehyde
2 Pyrwate _Lp (A)

Jz..:gg.ym@ ssas adil dglac Viag olish JSE

oLl ascasill ) B (A) Ciall

2 ADP]

SN NAD
whid
I AP [NADH']
24

Sl asa
PO

Jﬂb‘

a.u:l_..l 2

el o 2 A(A)

Learning Outcomes Covered

BIO.3.1.01.087
BIO.3.1.01.089
BI0O.3.1.02.027
BIO.3.1.02.028
BI0.3.1.02.029
BIO.3.4.01.033
BI10.3.4.01.042

One CO, molecule

O O 0O 0O O O O

) Two CO;, molecules

3. Three CO, molecules

4 Four CO, molecules

Mark(s): 5/5

Q.11:.

O30S 281 A s
NI\ EIRS R LIS 3TN
OSH i S iy a E30

Q2SN a8 iy By

Almost all the energy in living organisms originate from the
Sun. In the figure below, which of the following refers to

A heterotrophic organism?

FLYORPRN |

The ladybug

() (B) (A)

LSl 3 A8l alieal Guatll jleaal) Gaadd) sl
> OIS () e b Laa (gl colial JSal) B dal)

edamal) N e

(el
The sun




Learning Outcomes Covered

BI10.3.1.01.087
BIO.3.1.01.089
BI10.3.1.02.028
BI0O.3.4.01.033
B10.3.4.01.042
A and B Bs A

O O O O O

Band C BsC
A and C Cs A

4 B,Aand C CsBs A

Mark(s): 5/5

Q.12:.

The United States has birthrate of 14.1 (per 1000), Jiay (1000 Jst) 14.1 Basial) il gl 2 ) sall Jora iy
death rate of 8.3 (per1000), and migration rate of 2.9 2.9 5 g Jias (1000 J<) 8.3 <l gh
(per 1000). What is the population growth rate? fsed) galll Jiza Lad (1000 JS)

Learning Outcomes Covered
o BIO.3.4.01.042

% 0.87

% 0.78

3 % 0.68
% 0.53

Mark(s): 5/5

Q.13:.



Which of the following organism follows r-strategy for

reproduction?

(B)

€ A r- Ao dain A0 dal) clilgl) (e (g

Learning Outcomes Covered
o BIO0.3.4.01.033

Mark(s): 5/5

Q.14: .




The figure below shows the breakdown of Pyruvate into IR &g Sl daas) A ) cild g ) Jad sUiaf JSAN) puida g

carbon dioxide during the Krebs cycle. Study it and answer sV ped) o il A i ¢ S5 )90
the question: how many NADH molecules are produced aalg il g g ja Jlad Ga il NADH @il ja s a8
from the breakdown of one pyruvate molecule by the end of Som S b9 Ayl Aa
Krebs cycle?

aly et

Pyruvate

from glycolysis)

Four-carbon Citric acid Al
compound e NAD:
i NAD", . 2 Y INAH]
[NADH] <0, [NADH] [NAD" 90 oo
2 il
NAD*| g:‘: Five-carbon ' g0 Al
compound abdds
JATRE e co,
WhE co; ADP -
[app| e M [NADY
[NAD*| AOH,) gy [NADH]
FADH; #AD) [NADH FAD

Learning Outcomes Covered

BIO.3.1.01.087
BIO.3.1.01.088
BIO.3.1.01.089
BIO.3.1.02.027
BIO.3.1.02.028
BI10.3.1.02.029
BIO.3.4.01.033
BI0.3.4.01.042

O O 0O 0O O 0O O O

: 5
3 2
4 1

Mark(s): 5/5

Q.15:.



The figure below shows Calvin's cycle, study it and answer 1) peadl (ol A djaf ¢ NS dala Ua) JSAN) g g

the question: which letter of the following refers to the p Ll il ca Jiih M oS pall ) e A baa G o
compound that will be transported from chloroplast to Sl gl g 543880 g 598 plall
make glucose, fructose, and starches?
sl g )
4 gghad
(B) H -
5o o JO000 R
akd 12 ADP
26 AT )
o g The Calvin Cycle w—
GRGeH g bt 12 NADPH
[T2e3 3 B3hall 12 NADP*
(il il
i . =
©)

Learning Outcomes Covered

BIO.3.1.01.087
BI0O.3.1.01.088
BIO.3.1.01.089
BI0O.3.1.02.027
BIO.3.1.02.028
BI10.3.1.02.029
BIO.3.4.01.033
BI0.3.4.01.042

O O 0O 0O O 0O O O

B
C
D

Mark(s): 5/5

Q.16: .



In the figure below, the macrophage presents the antigen
to the helper T cell by binding to a receptor on the helper
T cell. What is the importance of this binding?

b Was
Fal ]

Processed antigen

T AA0 1) ) alga danld) A8 and coliaf am)l) 2
Baelaal) T AAAY o Juffiua ad) 3k o8 Baslual)
ehalid Y1 13a dsaaf Lad

Tads
Saslaalt
Helper Cell

Learning Outcomes Covered

o BIO.3.1.01.089
BI10.3.4.01.033
BI0.3.4.01.042

1 Activates the helper T cell and helps it to divide

Helps the macrophage cell to divide

2.
3 Converts antigen into processed antigen
4 Produces direct antibodies

Mark(s): 5/5

Q.17:.

ALy e laselay o T 4dal iy

Al e daald) A0a) ey

s 2 g ) sl A g Sy

3 pile Balias alusal ()5S

‘When pyruvate acid is converted to a 2-carbon intermediate
molecule called acetyl CoA it produces.

QSN (A T g S o () g ) (aan Jgas Laxie
.................... b e iy A a3 (310 il o

Learning Outcomes Covered
o BIO.3.1.02.028

NADH + ATP






